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Question Number : 1 Question Id : 27028215724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Prior to teaching the teacher does
TP S0 GIPERIENED TR0

Options :

Identification of objectives
oo fodto

Preparation of teaching lesson plan
PGS 8 (BerfsD Sard FTDSDEo
w

Know the mterests of the students

DTHe BHHOD Bendnsi5go
3. % @ =

All of the above
2IY
4. &

Question Number : 2 Question Id : 27028215725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors least contribute to effectiveness of teaching?
800 TA6° TS (Herddodore sodmds FFESE TG vFe) @S Hodn?

Options :



Teacher's knowledge of the subject.
| w SEPERIODO DRAD B0PRK

Communication skills of the teacher.

5 % SIPETRIENY PIRIRE JHeTjen

Teacher's personal contacts with students.

- amgdga}éa &PEamd8 o 818 Somogren

Teacher's competence in managing the classroom transactions
e, =
. SIS0 VG’ SFPrdind ﬁﬂa"m%w

Question Number : 3 Question Id : 27028215726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following factors least affect teaching?
Bod IS TS efeorr HFEdso TR B850 HB?

Options :

Teacher's attitude towards teaching.

- PPEIDY eFFRID I

Teacher's biographical data.
SIREREND EDE SOBH Soxohods Jarmrso
2.V

Teacher's self efficacy.

5 & GFTLENR oo Brdted



Teacher's skill in managing and monitoring.
i T I
4w QTP 0D HEBERS® eareoind Pdese

Question Number : 4 Question Id : 27028215727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The best way for providing value education to students 1s through
S?Jmng:’ga}.tf.: DL DD ©OSEOOS ©B08 HOAN ATPRO

Options:
Arranging lectures on values

DI STy QOP)ED TADEO

o

Discussions on spiritual texts with the students

S8 (oo R dupies® Sg)osto

Organising Seminars on values related topics
DensesH H00080dH vomed® 5rRAD HTSo QEraroito

Mentoring the students on values development
DenRe H=erRS SJ:F;:‘%E}E‘.} QBoBEs SrgigNo Jahso

Question Number : 5 Question Id : 27028215728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main purpose of formative evaluation 1s to
ErHm Sroosio @wE) mﬁ;@—ﬁgo

Options :

Grade students' learning outcomes.
DILR0 OIS HOTeOD [8of Tahso

1. %

Accelerate students' learning performance.

S v Do o Qap)s5c JriSodo Bawiso

Check students' performance graph.
e V) By DiEeR) B08ouo

Provide feedback to teacher effectiveness.
. =Evnest ) %ﬂ&’:}ﬂ;;&} B3 DRV o
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Sub-Section Id : 2702821154
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 27028215729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The conclusions/findings of which type of research cannot be generalized to other

situations? )
D 85N HOFEISD PO 388 $0REODH FEEB5005T08 devseth



Options :

Casual Comparative Research

RS HoTed)s HOTELD

1. %

Historical Research

- TOEE)E BOTGS

Descriptive Research
, SETEES 308%5S

Experimental Research
. SBrrrE)S HOIEER

Question Number : 7 Question Id : 27028215730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Which of the following statements is not true in the context of participatory research?
Bod (H8EPSSE® grridryy HB8%S (Participatory) 8 Hoglobod HBE@NG S
Options:

It recognizes knowledge as power.
20 PP &8 I8 o HLoDHR

It emphasises on people as experts.
20 (©BaD IPHD T8) TYpD



It 1s a collective process of enquiry.
20 058 $PAS ET (BBab

Its sole purpose 1s production of knowledge.

, o OR S0P @rerd g 688 Tabo

Question Number : 8 Question Id : 27028215731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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The head teacher of a school conducts an interview session of teachers and students with a view to
explore the possibility of their enhanced participation in school discipline enhancement
programmes. This endeavour may be related to which type of research?

a8 @Wﬁﬁﬁmédﬂnd) e B85 SRGoito, snbdin O s EEreiD 2osrofod IR
dhab &saﬂmﬂgcﬁmﬁﬁ, &m@ﬁg@ﬁ& Sogrsngd) (Interview) 5 QU::,E}J Sk abem)y o) BE 5688
G5 Hoaobhdnbr 55’3&,355}&53.

Options:

Evaluation Research
|« SPOOSS BOIEI

Fundamental Research
|DBE DO

Action Research

- oS HOIPGES

Applied Research
©0R0E H0°ED
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A detailed description of methodology of research 1s not required in

FoFow BOTES 358 Bod w8 ©SILI0TD

Options:

Doctoral level Thesis
mﬁﬁf—*ﬁéﬂ ﬁ;o&; D05 REpodS ((fogo

Master level thesis
5796 836 58S Repods ((fogo

Post-graduate level dissertation
8. 2. Jpow oSG &TAS

Conference Paper

K&iﬂ%’nﬁgf& Somobodd Hesisar HlEo
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From the following list of statements 1dentify the set, which DOES NOT have negative implications
for 'research ethics "

BosRSAS (H8FEses” D6 $68SE VKLY’ HBTEHHO w=H

Options :

A researcher critically looks at the findings of another research.
2.8 B0SEDH ass B0PG HOTD) DdbGrd)Sorr HEbdoHto

Related studies are cited without proper references.
[0 aa;‘:aﬁrjw DHowme 5005 ofidbarod Jrdodto

2. %
Conduct of practitioner 1s screened in terms of reported research evidences.
3« D0TEH IBeddh B0 JTQS mwwrde wgrdore
Both policy making and policy implementing processes are regulated m terms of
prelimiary studies.
Fodod Sdird Tabdo, e Idhto ©F BB 208D Swoth BN
. ordhrren Ad@odto e
4, # o o
Sub-Section Number : 3
Sub-Section Id : 2702821155
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 27028215734 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed

Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

We have achieved freedom. A country and a people that by every test are a unity have been
arbitrarily divided. And the wound will take long to heal; for, as Mr. Nehru has sadly remarked,
“division has taken place in the hearts of the people of India.” But it 15 idle to brood over what
has happened and foolish to get angry and cast about for scapegoats. Many think that there 13
bound to be a reumion when there has been time enough for people to reflect coolly on the
disastrous consequences of this unnatural partition. The responsible leaders have shown a
praiseworthy desire to conciliate the minorities and to reassure them. But so long as Lahore,
Calcutta, and other big cities remam m the grip of madmen drunk with blood and the civil power
stands helpless in the face of organised murder and loot, 1t 15 idle to expect the nunority
communities to be satisfied with verbal assurances however ample. From today the
responsibility for ending this disgraceful state of affairs 1s solely ours. Neither the Government
of India nor that of Pakistan must overlook the fact that our new-won freedom 1s itself gravely

menaced by this chronic lawlessness.

We have won freedom. And the first thing our people must leam 1s that it 15 no picmic. They
will have to gird their loins and work as they have never worked before. Any number of paper
plans will not usher m the millennium if we go on interminably arguing their relative merits.
The consensus of mstructed opinion i the country 15 that our urgent need 15 to increase
production. Dr. John Matthai argued that like all national movements for freedom ours too, has
had to lean heavily on vested imnterests and the latter have taken the fullest advantage of thus;
and that a determined effort should now be made to shake off this strangle-hold and this could
be done, and the energy released by the achievement of freedom could be best utilized by
casting vested interests for the role of enemy as we cast British Impenialism for that role till the
other day. Those who led the fight for freedom yesterday may themselves come to be regarded
as vested mterests by their self-stvled successors of to-day who claim to lead the struggle for

economuc equality.



Question No: 11 & 15

11 Hoo® 15 H5& 5o HEpsd HowonowH REeridn S8 085 adaéhHe.
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Dr. John Matthai 558 8200 fon.ﬁﬁp 8550 OR), BPDRODROOM s REPOES
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Correct Marks : 2 Wrong Marks : 0
How was the country’s freedom threatened?
D30 AB0EY W) DT §3e5eS BB HBOOP

Options :

War
N0

Partition

5 % BATATATS

Discrimination of human beings

» NN T RAINEY

Lack of independence

05 B0B,0 BEIFI%0

Question Number : 12 Question Id : 27028215736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is correct?

&3 800 ¢3S HDIE DE?
Options :

1. %



Dr. John Matthai critically said that all national movements for freedom depended on
beneficial things.

T 20 B8 Treby Sorr 59 0 PR @) Zeoh e sren

SHTADTN AT @erd Hepddl . e H3 o ﬁzﬁf‘@agéa.

Dr. John Matthai pointed out that all national movements for freedom depended on
public revolt.

oo B%50 2BA ©R)) a8 aliiren (Her S%Ibertn w. &0 H18 weed o
4O rdowed.
2. ®

Dr. John Matthai mentioned that most of the national movements are started to receive
independence but they became political movements.

. 2l $HB SPphdr e adah algiror Jxgoldo oo 8o

@rbododamron. 50 ©d waddh tigErenr droean ed) ﬁ}ﬁ“&ﬁgﬂﬁ).
3, % °

Dr. John Matthai uttered clearly that no national movement 1s successful unless it has
politics in it.

Tr3805re) BHIO) 9 20D Gi500 D20DSH0S0 S IO 50
T TS DR
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No

Correct Marks : 2 Wrong Marks : 0

What 1s the main 1dea that expressed by Dr. John Matthai in the above paragraph?

VTS TE0 R T TR 0D ST ees?



Options :

It 1s about colonialism

RN D P PR A IS T LA IO ATO LA TN A

It is about partition

28 DTS Jo00H0AKG.

It 1s about human values

- 2O AP0 AN By OO0 DE

It 1s about imperialism

L A0 Deghrony, aeeds QOVOHODIED

Question Number : 14 Question Id : 27028215738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
According to the writer. India and Pakistan partition 1s
Brhomed (D50, 2rORH0 OGN FETQ BB 9T
Options :
Natural

| DB



Compulsory

BDDOBOD
2. *

Odd

@923 a0
3. v

Inevitable
QT EENE
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“The wound will take long to heal.” The word “wound’ represents

TPODN DOD0 TH@EDE TTET e0N0 CNEN0E)." B8 ma\*%oéﬁ FeRo e}
9T D0 HORD DN ;
Options :

Deaths occur in World War IT

| % OO0 D00t ANPOS D HBeTexo

Partition

DLBHE
2. %



Nehr’s sign on papers of India and Pakistan division

23850040 SHBAM TEETS DEIBD DIPOP DR OB

Eeunion of the two countries

otk D7 §HDBe0005H0
4. %
Sub-Section Number : 4
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Correct Marks : 2 Wrong Marks : 0

One of the following should be avoided for effective communication. Find it out?

80O S’ 2,563 AP0 H02FAEIR ArBorT Gowd. )
S0 G?

Options :

Intercultural awareness

DO BIO 50, NP

Ambiguity
QOO Ed



Appearance of speaker
5 ang) Brdo

Physical disabilities
4 x FOCE J8ergen
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Which of the following are the characteristic features of an effective classroom?

Eﬁ‘uﬁ)gaf)oé@_ofﬁ BOHBE wotHodD B offPIa08 7

1. Learning 1s student centered.
ogHdEn D50 Sodg B ©oknos)

2. Only teachers must be engaged.

Gl T SOV SIP|€55) BedBad

3. Instruction 1s varied.

P50 JDQOJT G0EN0A.

4. Learning 1s related to life.
RN )FI0 ©9TE 2T HODOQODIE
That which has a feedback.
HD8 @PIpa00 B0

6. Students are engaged.
DT ;0N SEHE0

Select the correct answer from the codes given below:
808 250G HoBBO OB AT NIFTI0 JOTDE0H:

Options:
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Which of the following is not true?

HE3S” A D20 5°Cw?

Options :

We can learn to become better communicators through enhancing self-awareness and self-
knowledge

RLOD-OSTETS HOO VLON-VTFTR) DOFOAODE0 TFIT° S0
GBa NATIS (DPOE0N e )T E0

2

LiBe

The forms of non-verbal communication include facial expressions. eye contact. and
personal appearance.

T8 P Sr8)G  BE  draren S0 998w, od
H08moen O I355ed (rara)) SO &odab



Non-verbal cues are not different from culture to culture.

FE AP0 28 0L DO 5088 D08 D0 T TBEIKEO
\'_.f-?

Active listening skills can be used fo develop awareness and monitor the non-verbal cues
of others.

HBBS (#es Jeargen edmrrd DoEPoBSEAS Kb adthe OFYse SoBeei)
4 % ééﬁﬁ;&@d@ﬁ)& GI@EA0DE.
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Correct Marks : 2 Wrong Marks : 0
Feedback is always appreciated. It motivates people to improve. The characteristics
of effective feedback
@farabo dgEr (Hdonodathiod. ab FHeodh HHrHHsSES
EPe)Sri0b. S58508H efarabo @nE) oEmo

Options:

It should be regular
1% 26 ([Bshorr sosed

It should be non-reciprocal

A DBAIB0 AAK o)

It should include recommendations for improvement

- 28 DD §B50 R D D8 Gomd



It should be based on information which 1s objective by first hand observation

v 30 (S Hoded I8 B DD 32)‘5{}&55 Er&d Ddrarbo 2 el DKo
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Media 1s important because it 1s a

AT SNWEIE DOCHE0T) AT 9T
Options :

Communicative source
QTS (0O estrdad

Money earning machine
821) QOTE0D DT AHO|HO

Benchmark to follow
2.8 ﬁgw&l ©@SBoSe0

Medium for politicizing

el dired Eﬁjﬂtﬁgeﬁm
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A tram crosses two persons who are cycling in the same direction m 12 and 18 seconds
respectively. If the speeds of the two persons cycles are 9 and 18 kmph respectively. then
the length of the tram s (in meters)

£ Bew, oF 65 286 D I¢hed) adD S50 SHOT 12 HB0H 18 DD
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Options :

1. % 18

N
#
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4.+ 90
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Two taps A and B can fill an empty tank mdependently in 2 and 3 hours respectively, If

both the taps are opened simultaneously, then in how many minutes can they fill the tank?
14 oo W, ' 6 W, W,

BOCD e A OO B e 28 S ST 2 000D 3 HoLO D 0[enT
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Options :

| % 36

3 % 90
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A person wants to buy 6 kg of tomatoes and 7 kg of potatoes. which together would cost
Rs. 190. In the market as tomatoes were very good. then he decides to buy 2 kg more
tomatoes and 6 kg less potatoes and spent only Rs. 170. Then the price of 1 kg of tomatoes
15

28 58 6 850 aFrero Hook 7 5o a0merdode, 3ok D 190
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Options :



2.% 15

3 ¢ 20
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A company gives a discount of 15% on the marked price and makes a profit of 19%. What
percentage. did the product mark over the original price ?

it W, o] 2 o (" . W . R . O
2.8 00 180 AOS 15% G080 A A0S HBAN 19% erer) SPotded0d.
&é5 189 @0 &8 1 D0 TEVE D5 100 &8 &0d?

Options :

15
1. %

5 % 19

4.v 40

Question Number : 25 Question Id : 27028215749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a certain language, if the word ‘BASKET" is coded as ‘UFLTBC", then the word
‘SIMPLE" 1s coded as

2% 03 7S, ‘BASKET &% 90 &6 UFLTBC' eoond, &3¢k & a7 'SIMPLE

@ G056
Options :

1 % FMOQNIG
>« MFNQTJ

3 v FMQNIT

, » FMQGNI

Sub-Section Number : 6
Sub-Section Id : 2702821158
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 26 Question Id : 27028215750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Missing group of letters in the following is
o, -] o] o o gl w,
805 8005 S0 @5 TP D0

AZBY : CXDW : : EVFU:
Options :

.« TGSH

, % GSTH

5 » GHTS

GTHS
4.

Question Number : 27 Question Id : 27028215751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0
The missing number in the sequence: 7.20.47.94, 167.__ is

29006 SDoDS Dowms: 7. 20, 47, 94. 167.

Options :

| % 216

]
-1
-2

5 % 226



4 % 199

Question Number : 28 Question Id : 27028215752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The odd one among the following letters is
808 TS ), 28 DOTFOD i T en

ool -

Options :

| » DU

) % AZ

CX

4 % BY

Question Number : 29 Question Id : 27028215753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



In a class of 280 students. 210 students passed m Chenustry and 220 students failed in
Mathematics. 40 students failed m both the subjects. Then how many students in the class
failed only in chemistry?

2X BB D&) 280 08 dzded 210 206 Srohd TS &80
OO, B0 220 0B Areden Ke3ST|N0S DNO0ErS. 40 008 Darzden
306035 ADODOIRD. ©HPd SSISS DN ITdOS SRrchT RS
SPSR DNORD T D02

Options :

1. = 40

Question Number : 30 Question Id : 27028215754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

How 1s A’s mothers fathers son related to A’s father.
A tﬁaoﬁ@_ SOHE So(& Gwg) B, A (fmﬁé So|&8 AT ==,
Options:
Brother &F&&co

1. %

. Uncle &S7ev



3 Brother in law 2755 / 275008

Father

0|6
4, % -
Sub-Section Number : 7
Sub-Section Id : 2702821159
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 27028215755 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following mnformation.
Beod: (43en Q. 31 Hod Q. 35 S8%, 80d Jdrado egrdom G o,
In India.the total number of color televisions sold by different companies in the
year 2015 and 2016 were 45 and 55 lakhs respectively. The percentage of
different COIllp'llliEs sold 1s presented m the table.
2 OSTH0ET 2015 B0 2016 H05SITE DDA Hoen SQHT 45, 55 Ofe
dofhe) BODEIN F00TN. VG open DEon0dS T
:-.JLQ\':A(?_-' c.&.‘lwc’,_/%’-‘

Company of Color Television 2015 2016
S0 BODERONE) DoPen (in percentages | (1n percentages
roINOS) | Téinod)
Videocon DAGrsS 21 22
Samsung F00R 18 20
LG 262 14 15
Onida 2.d@ 13 10
Phillips a®%5 11 7
BPL Ja& 10 8
Awa 23 6 6
Other companies Desda0e0 7 12

Sub questions

Question Number : 31 Question Id : 27028215756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which company has maximum increase in the number of units sold mn 2016 when
cmnpmed with 2015?
20158 FOR), 2016659 “lgcmomﬂf &) 0R Gng), CArAL) N0 e dSorr DOA0E?

Options :

| % vedeocon DGEBITS



3 ¢ Samsung 30000

4 % Others 935000

Question Number : 32 Question Id : 27028215757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The percentage of units sold by Videocon. out of sold units in the two years together is

W T b o 3 T, s L 6 & 2 &y oL ™ "
B0 N0NSITOE DFN0DND TS0 AFAROS | IATFS S AE0N0DNEA 0
ERCTONO W ALANE

Options:

1 % 21.00

Question Number : 33 Question Id : 27028215758 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The number of units sold (in lakhs) by others 1s increased m 2016 compared with 2015 is
20158 FOR 2016, ad&HOT EWOIT DORS AFIE Howe. (LS

Options :

Question Number : 34 Question Id : 27028215759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The number of units of Phillips sold in 2016 compared with 2015. the number of units
sold decreased 1s ,
20158 O, DO AZoN0DS AP D03 201665, NECHSNES’ S AP
R0W? (@ f“fnf )

Options:
0.1

1. %

, % 035



1.0

4w 11

Question Number : 35 Question Id : 27028215760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The percentage of units sold by Onida. in the two years together is
; . T o L. T o W
B0 N0 TS EDD DETIFED FONO0DDS IS0 ODTFAIL) F°¢5O

Options :

| % 0.35

, » 1135

Sub-Section Number : 8
Sub-Section Id : 2702821160
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 27028215761 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

DOS stands for
DOS e0&

Options :

Disk Operating System

- &%y s50800 ?\3:;\35}

Disk operating session
&%) w50A0oh RS
2. %

Digital Operating System
8266 =50B0h DY

Digital Open system
&266 2 bR
4, % »

Question Number : 37 Question Id : 27028215762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The term used to describe all physical components of a computer is:
Boaye5abE°) P88 grrred DBBoSENS o6 Hiso.

Options :



Software

|« 536
Shareware

5 % 2556
Hardware

3 5’3511_355
Firmware
1=}

4 % Sieialel

Question Number : 38 Question Id : 27028215763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In Internet terminology. what does the acronym WYSIWYG stand for?
20663¢) JrosBESS® oY Do WYSIWYG G dordidnod

Options :

1 % Why You Saw Is What You Got

5 What You See Is What You Get

3 % Where You See Is Where You Got



4 % What You See Is What You Got

Question Number : 39 Question Id : 27028215764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The program used to prevent unauthorized user on internet from reading files ina LAN 1s
@58 B ris¥orr) mobb 3 oo LANE® 6) S8 w688 b

Options :

Firewall
| v DTS

Brickwall
B

Telewall
3 & BOard

Cold wall
gErgE ]

Question Number : 40 Question Id : 27028215765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

The expansion of abbreviation MOOC 1s
MOOC e08

Options :

1.« Massive Open Online Course

> % Massive online open College

3 % Management open online course

4 % Management online open college

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

9
2702821161
Yes

null

Question Number : 41 Question Id : 27028215766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How much total solar energy that is reaching earth 1s used in the evaporation of water on

earth to join 1n hydrological cycle?

D8 Sgos PEIOS, Gridd 30 o8 SrvgEd et s VAN 6O o 887

Options :

1.+ 1i4



4 % 1/8

Question Number : 42 Question Id : 27028215767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In which country. the Sihwa Lake Tidal Power station is present ?
o BIost T DBy BES 58 %3’3,5 Berth?

Options:

China

o
a_

Canada
Bae

South America
tﬁéaa eonbse

South Korea
&8ee B5°BAP

Question Number : 43 Question Id : 27028215768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
The main cells that get effected by HIV are
HIV g (@Hgeso 308 Sogy Seseen
Options :

WBC
d%ﬁjﬁa

RBC
5652

Hepatocytes
seBohEeen

Neurons
& Zezren

Question Number : 44 Question Id : 27028215769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Lignite is a variety of
OMES a8 BEDS

Options :

Renewable reource
VBTN D50

1. #



Crude o1l
> % S0d S50t

Brown coal

. Aigsh &%)

Combustible gaseous nuxture

. snoth Degrasn e ardin db|dsnan
4, i

Question Number : 45 Question Id : 27028215770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Ozone trends panel was set up by

LS (B ngdea?ﬂcﬁna JoPInd D PDOTLD.
1. NASA

WMD

SHAR

UNEP

=

Options:



4% 1,2,3
Sub-Section Number : 10
Sub-Section Id : 2702821162
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 46 Question Id : 27028215771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

UGC has allowed students to do Diploma or Certificate Courses side by side with

degrees to
Dorsten BE%ren B B $09845 8o Tahe8 UGC eiiidoded8 sbeo.

Options :

Increase income of Universities and colleges
D Qrrgedire HBdn Egrron ewrdird) Rosto

Provide sufficient workload to the teaching staff

5 S Deohs SASoE HAEDoSEo

Utilise human and non-human resources maximum

5 x PSS HBatn ErBES S5SH0H Frf Fond® HAGrARoEO

To empower students to take up work after their degree courses
4 v Blb TBIRS Sod Dregthen HATcHHOR SrsozgR) DoSEo



Question Number : 47 Question Id : 27028215772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Which of the following organizations deal with "capacity building programe" on

Educational Planning?
DegerdEE S008I “%ﬂé}ﬁ;ﬂv@ QoY S8y EsreR” &&S&moﬂ 503;; 6?

Options :

NCERT
1 % 905008

UGC
 O50.2.2

NAAC
a5

NUEPA
:fﬁnsﬂn

Question Number : 48 Question Id : 27028215773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The purpose of value education is best served by focusing on
Bob ol So|@¥boBto Toe Dende Dy 6RO P FrHosED



Options :

Cultural practices prevailing in the society.

- D¥reod® &) #Dé@@é esTIPTPeD

Norms of conduct laid down by a social group.
2.8 PErRs $Yo PB0NS (BT (Hreren

Concern for human values.

SPRE e 56 (3
3. ¢

Religious and moral practices and instructions.
SSHB8S Hoan I8E sarore FES

Question Number : 49 Question Id : 27028215774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A Central University is setup by an act of
Solbadh DEDogecho Bod SGo woe FdoSadod

Options :

The Parliament

artanoes
v T

The Legislative Assembly
o % BDOY



The UGC
cin. 2.5,

The MHRD Department

4% aeX. -6 &. &ﬁvgﬁméﬁ (538 Sthe sho@dkey Degrrizn)

Question Number : 50 Question Id : 27028215775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the most important 1in higher education?
638 D5S® wodiod HErdst Bob 06" 26?

Options :

Teaching what is being tested
$68098 eomodm &Holto

Testing what is being taught
90D womed HbFosto

2 %
Promoting students achievement in academics
- FogoTed DIt PEID NoT0BOSES

Encouraging learning to learn

eogf 0w oD egkRhoboth @rE)irosio



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

LIFE SCIENCES

2
270282208
120

120

No

No

0

200

No

Cant View

No

LIFE SCIENCES

SectionId: 270282208
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2702821163
Question Shuffling Allowed : Yes

Is Section Default? :

null



Question Number : 51 Question Id : 27028215776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the process of the reverse transcription ...
Options:

, MRNA 1s synthesized from DNA

DNA i1s synthesized from DNA

2. %

v DNA i1s synthesized from mRNA

@ Proteins are formed from mENA

Question Number : 52 Question Id : 27028215777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which one of the following amino acids has a pKa value near physiological pH?
Options :
Histidine

1.4

5 % Arginine



3 % Lysine

4 % Serine

Question Number : 53 Question Id : 27028215778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Glucose residues m amylose are linked by..

Options :

1_wﬁ'1—>6

5 al —- 4

3 % @16

£l — 4

Question Number : 54 Question Id : 27028215779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Glucose is converted to mannose by ..
Options :

anomerization

5> epimerization

3 % Racemisation

4 % none of the above

Question Number : 55 Question Id : 27028215780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Vitamin- D 1s dertved from which of the following precursor by the action of UV light.
Options :

Lanosterol

1. %

5 % Dextrose

3 % Glycocholate

4. 1~ Dehydrocholesterol



Question Number : 56 Question Id : 27028215781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following amino acids 1s considered both ketogenic and glucogenic?
Options :

1 % Alanine

5 % Proline

3 Tyrosine

4 w Histidine

Question Number : 57 Question Id : 27028215782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

C- Value paradox suggests about ..

Options :

1. % Dosage compensation

5 % Colinearity between genome size and complexity of an organism



3 % Chromosomal mutation

Non- colinearity between genome size and complexity of an organism

Question Number : 58 Question Id : 27028215783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Genes of color blindness in man are located on ..
Options :

1@ X- Chromosome only

5 % Either the X or Y chromosome

3 % Y- Chromosome only

Both X and Y chromosomes

Question Number : 59 Question Id : 27028215784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

A RNA Polymerase holoenzyme consists of the following subunits ..
Options :

1 % a, BB*

) x 2028640

i
*a, ﬁ,{}'
3. % 2'8

2a, 2

Question Number : 60 Question Id : 27028215785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Balbiani rings are associated with

Options :
Lampbrush chromosomes

1. #

> Polytene chromosomes

3 # B chromosomes

4 % Homo chromosome



Question Number : 61 Question Id : 27028215786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Assertion(A): Each chromosome during metaphase has two chromatids.

Reason(R): DNA synthesis takes place in the S-phase of interphase.
Options:

1 % Both (A) and (R) are true and (R) 1s the correct explanation for (A)

5> Both (A) and (R) are true and (R) is not the correct explanation for (A)

w (A) 1s true but (R) 15 false

4 % (A) 1s false but (R) 1s true

Question Number : 62 Question Id : 27028215787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Cellulose. the most important constituent of the plant cell wall 1s made up of ..

Options:



Branched chain of glucose molecules linked by an alpha-1.6-glyeosidic bond
at the site of branching.

Unbranched chain of glucose molecules linked by an alpha-1.4-glycosidic
> % bond.

Branched chain of the glucose molecules linked by a beta-1.4-glycosidic
bond 1n a straight chamn and alpha-1.6-glycosidic bond at the site of

branching.
3. % -

Unbranched chain of glucose molecules linked by the beta-1.4-glycosidic

bond
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In Ame’s test, if the substance 1s a mutagen. 1t will increase the rate at which
Salmonella-auxotrophs revert to

Options:
Lysine synthesizers

1. %

5 % Tryptophan synthesizers

3 @ Histidine synthesizers



4 % Arginine synthesizers
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Match the following

List-I List-II
I. Ecotone 1. Running water
I1. Benthic 2. Replacement of one community by another
III. Sere 3. The transitional zone between two communities
IV. Lotic 4. Zone found at the bottom of the sea
Options:

1.« F3 14 TII-2 IV-1

-4 II-3 III-2 V-1

R = O (O

e -4 I3 III-1 V-2
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In the secretory pathway of protein modification. proteins move through various
organelles m the following order.

Options :

1. % Chloroplast— peroxisome — lysosome

> % Mitochondria — peroxisome— nucleus

3 ¢ Endoplasmic reticulum— Golgi complex— vesicle

Golgi complex— mitochondria — nucleus
4. %
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The catalytic efficiency of an enzyme is represented by

Options:



K cat
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Which immunoglobulin among the following can be transported across epithelial
cells?

Options :

1. 126

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Which cell organelles involved in photorespiration?
Options :

1 % Ribosomes

Peroxisomes
2.

3 % Lysosomes

4 % Dictyosomes
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Germplasm preservation through tissue culture 1s
Options :
1 % in situ conservation

2 ex situ conservation

“ selected area conservation

4 % Both (A) and (B)
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Vernalization refers to
Options:

Diurnal photoperiodicity

5 % Growth curve related to light

Increase ability to flower by Low-temperature treatment

4 % Effect of photoperiods on plant growth

Question Number : 71 Question Id : 27028215796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the receptor for a group of signaling molecules known as
the growth factor?

Options:

G protein-coupled receptors
1. %



5 % ligand-gated ion channel

3 % JAK-STAT receptors

4 Teceptor tyrosine kinase
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Match the following

List-I List-I1
LNi* 1. Component of protein
H.ca™ 2. Cofactor for enzyme urease
III. Mo 3. Activates some enzyme
IV.SO45 4. Co-factor 1n nitrate reduction
Options :
1 ¢ -2 1II-3 Im-4  IV-1
5 % -3 II-4 m-2 IvV-1
3 % .2  1II-3 IT1-1 V-4
I-3 14 II1-1 Iv-2
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If a polypeptide has 300 amino acid residues. what 1s its approximate mass?
Options :

3000 daltons

15000 daltons

33000 daltons

50000 daltons
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Which of the following is not a prosthetic group of nitrate reductase?

Options:

FAD

1. %



Pterin

2.4

3 ] }'-"Iﬂ
Heme

4.,
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Synapsis 1s defined as the pairing of..

Options :

1 % Acentric chromosomes

> % Non-homologous chromosomes

3 Acrocentric with metacentric chromosomes
)

4 Homologous chromosomes
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Certain species of bird show variation in beak size only when they are sympatric.
This is an example of ..

Options:

1« Character displacement

Natural Selection

3 % Ecological variation

Mutation
®
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Match the following

List-1 List-II

(==

I. X- linked mheritance . Cystic fibrosis

| o]

II. Autosomal recessive . Hutington disease

LW

ITT. Autosomal dominant . Hairy ears

IV. Y-lnked mheritance 4. Hemophilia

Options :

I-1 II-4 II-3 IV-

| )

1. %



-4 II-3 III-2 V-1

3 -4 1II-1 III-2 IV-3

I-3 II-4 III-1 V-2
E
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Core-satellite metapopulations are also known as metapopulations,
Options :

& Non-equilibrium

Patchy

3 ¢ Mainland island

4 % None of the above
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Which biogeographical region finds the musk deer 1n its natural habitat?
Options :

Eastern Himalavas
1. ¢ )

Western ghat

2. %
3 % Coastal belt
4 % Andaman
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LOD score method was originated by ...
Options :

Peltier

Morton



4 % Peterson
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What 1s the correct order of steps involved in Western blotting?
I. Protein denaturation
II. Hydrogen Peroxide reduction
1. Primary antibody binding
IV. Transtfer on to the membrane
Options:

[- -1V

> % H— 1> 10TV

3 % I-1I- IV III

4 I-»IN=>H—+1

Question Number : 82 Question Id : 27028215807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Haploid plants are obtained by culturing ..

Options:

Young leaves

5 % Endosperm

Pollen erain
3. % B

4 % Root tip
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Which assumption supports the Hardy-Weinberg Equilibrium from the following?
Options:

1 % Genetic drift

Random Mating
2. =

3 % Presence of natural selection



Assortative mating
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A sample of normal double-stranded DNA found a guanine content of 19 %. What 1s

the expected proportion of adenine?

Options :

11 %

1. %

68 %

31 %

D 0L

4, % O°70
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Where does the glycosylation of protein occur?

Options :



Mitochondria

Peroxisome

Lysosome

Endoplasmic reticulum
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The intrinsic pathway of apoptosis mvolves pro-apoptotic and anti-apoptotic proteins.
Which of the following 15 anti-apoptotic?

Options :
1. ® Bﬂd

2 Bel-2

Bax

4 % caspase-9
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Down’s syndrome is a disorder due to

Options :

1 Sex chromosome
E

Autosome
2. %

nullisomy

Deletion
4. %
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Who proposed the theory of inheritance of acquired character?

Options:

Mendel

Wallace



Lamarck

4 % Darwin
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In Drosophila embryos, which of the following maternal effect gene products regulate
the anterior structure of the embryo...

Options :

1 % Bicoid and Torso

5> % Bicoid and Nanos

Bicoid and Hunchback

4. % Bicoid and Caudal
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The nucleus 1s lost secondarily in ..
Options :

Sperms

Mature eggs

~ All of the above
4, %
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The Singer and Nicholson model of plasma membrane differs from Robertson’s
model 1n ..

Options :

- The arrangement of proteins

The number of lipid layers

2. %

3 % The absence of proteins in the singer model

The arrangement of lipid layers
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Who gave the term “heterochromatin™?
Options :

Hammerling

> % Darlington

Emil Heitz

Morgan
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Which of the following phases is characterized by the gradual visibility of the

chromosomes under a light microscope?
Options :

— Leptotene



Zygotene

3 % Pachytene

4 % Diplotene
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RuBisCo enzyme is made from two subunit. large subunit coded by ..
Options:

: Nuclear genome
- g

Chloroplast genome

Mitochondrial genome

Both (A) and (B)
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The majority of RFLP markers are extremely and

Options:

locus-non-specific and dominant

5 locus-specific and co-dominant

3 % locus-specific and recessive

4 % Non-specific and recessive
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Which of the following enzymes do not mediate post-translational modifications?
Options:
Kinases

5 % Ligase

Phosphatases



Helicases
4. ¥
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can be used to create a genomic library as long as the size of the partially
digested DNA fragments between 40 and 45 kb.

Options :

1 % Phage

> Cosnmud

3 % Plasmid

“ All of the above
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Protein phosphorylation does not play a eritical role in which of the following cellular
processes?



Options :

i Cellcycle

5> % Cell growth

3. % Apoptosis

4. Cell wall synthesis
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Which of the following orders of basic processes are involved in succession ?
Options :

Invasion -= stabilisation -> completion and coaction -> reaction -> nudation

nudation -> stabilisation -> completion and coaction -> mvasion -> reaction

3 % Invasion -> nudation -= completion and coaction -> reaction -= stabilisation

nudation -> mvasion -> completion and coaction -> reaction -> stabilisation
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The following matrix shows the relationship between probability of death and duration

of species association.

c
2
2§
ez A B
<
£
8 2
g3 C D
=
a
Low High
Probability of Death

In the above. A, B. C and D are:
Options :

v A - Parasites. B - Parasitoids. C - Grazers. D- Predators
1 . .

A - Carmivores. B - Herbivores. C- Parasites. D - Parasitoids

2. %
3 % A - Grazers, B - Parasites. C - Herbivores, D- Parasitoids
4 % A -Predators. B - Parasitoids. C - Parasites. D — Camivores
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According to 2014 TUCN Red list. which of the following vertebrate classes has the
largest percentage of threatened species?

Options :

Mammals

Birds

Reptiles

Amphibia
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In C. elegans during the primary vulval cell development. ....... receptor 1s activated
Options :
1 % Lin-12

Lin-31

Let- 23



4 % Let-12
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Match the following foetal membrane and functions

List-I
I. Allantois
II. Chorion
III. Yolk sac

IV. Amnion

List-II

1. Exchange of gases

2. Shock absorption

3. Elimination of metabolic waste

4.Food storage and digestion

Options:

1 % -2 II-3 14 IV-1

> % .2 II-3 II-1 IV-4
.3 II-1 II-2 IV-4

3. #®

4 -3 II-1 II-4 IV-2
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What do the changes 1n a community that 15 i near equilibrium with the environment
lead to the formation of?

Options:

Mixed community

Climax community

3. % Total community

4 % Naive community
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Following four types of species were observed in a community:
P. Species ‘P’ has a large effect on the community because of its abundance.

Q. Species ‘Q’ has a large role in the community out of proportion to their
abundance.
R. Status of species ‘R’ provides information on the overall health of anecosystem

S. Significant conservation resources are allocated to species *S’ which 1s single.
large, and instantly recognizable.

According to the above description. species P. Q. R. and S are called respectively

Options :



Domuinant. Keystone. Indicator. and Flagship

Keystone, Flagship, Dominant, and Indicator

Keystone. Dominant. Indicator. and Flagship

Flagship. Dominant, Keystone, and Indicator
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Alfa diversity within a particular area or ecosystem 1s expressed by the ----m- of species

in that ecosystem.

Options :

Fanuly

Speci
5 pecies

Number

4 % Genus
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“Silent Valley Project” 1s situated in the ==memm=memmemaemmx state,

Options :

“ Maharashtra

Kerala

3 % Uttarakhand

Jammu and Kashmir
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Which group of cells of amphibian blastula 1s capable of inducing the organizer?
Options :

Hypoblast

> % Hensen’'s node



3 % FPax6

Nicuwkoop centre
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Fungal groups have septate hyphae and reproduce asexually by budding, conidia, and

fragmentation

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

Zygomycetes
5 Basidiomycota
3. Chytrids

4 Spheromycota
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Which is associated with immediate hypersensitivity reactions from the following?
Options :

IgA

1. %
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A

Which type of development of an organism occurs 1n “autonomous specification™?
Options :

1 % Syneytial



Regulative

3 % Selective

4 Mosaic
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In the Phylogenetic tree, a paraphyletic group contains
Options :

All the representatives of the clade and the most recent common ancestor

All the representatives of the clade but not the most recent common ancestor

3 @ The most recent common ancestors but not all of its decedents

4 % Unrelated organisms
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Which of the following metabolites 1s transported from chloroplast to peroxisome

during C7 oxidative photosynthetic cyele?
Options :

Serine
1. %

_ Glycine

3 % Glycerate

4. v Glycolate
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Which of the following vitamins deficiency leads to hemolytic anemia in animals?
Options :
Vitamin A

1. %

5 % Vitamin K

3 @ Vitamin E



Vitanun D
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Which era 1s considered as the “age of reptiles™?

Options :

1 % Palasozoic

Mesozoic

Cenozoic

Proterozoic
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Assertion (A): In the human heart there 1s no mixing of oxygenated and deoxygenated

blood.

Reason(R): Valves are present in the heart which allows the movement of blood in one

direction only.

v

Options :

| % Both (A) and (R) are true and (R) is the correct explanation for (A)

Both (A) and (R) are true and (R) is not the correct explanation for (A)

3 % (A) 1s true but (R) 1s false

4 % (A) 1s false but (R) 1s true
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Match the following

List-I List-1I
I. Demonstration of filterable infectious agent 1. Griffith
II. Bacterial transformation 2. Fleming
III. Identification of DNA as genetic material 3. Benyerink
IV. Penicillin discovery 4. Avery

Options :

1. ¢ -3 1II-1 III-4 1IV-2



o % k1 I3 M2 IV2

-4 II-2 III-1 1IV-3
3. %

4 % 1-4 II-1 TIM-3 IV-2
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In mouse embryos the first site of hematopoiesis s ..
Options :

% Bone marrow

5 % Spleen
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Paracentric inversions produce ..

Options :

1 % Dicentric chromosome

5 % Duplications

3 % Acentric chromosome

Both (A) and (C)
W
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Which hormone is responsible for fight or flight response?
Options :
Thyroxine and prolactin

1. #

“ Progesterone and oestrogen

3 v Epinephrine and norepinephrine



Insulin and glucagon
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The basic functional unit of the human kidney 1s considered to ..
Options :

Neuron

Exon

Nephron

4. % Duct
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Which 1s the characteristic of deuterostomes?

Options :



Bilateral symmetric body

> % Radhial symmetric body

3 % Well-defined digestive system

Formation of anus from blastopore
4.
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Which are the two criteria of most cork cells?
Options :

_— Suberin and permeable

5> % Cutin and impervious

Suberin and impervious

Cutin and permeable
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In SDS- electrophoresis. proteins are separated on the basis of their
Options :

Charge

Molecular size

3 % Charge and shape

4 % Amino acid composition
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Which statement 1s true about type two error from the following?
Options:

1. & In type two error, accept an incorrect hypothesis

., Intype two error. reject an incorrect hypothesis



3 % In type two error. accept a correct hypothesis

In type two error, reject a correct hypothesis
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Which 15 the correct order for respiratory quotient for the following substrate?
Options:

Protein > Carbohydrates > Fat

Carbohydrates > Fat > Protein
2. %

Carbohydrates > Protein™ Fat

4 % Protein > Fat> Carbohydrates
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An alpha-helical conformation of the globular protein in solution is determined by
Options :

Flurorescence microscopy

5 % Electron microscopy

UV absorbance spectroscopy

Circular dichroism
4.+ ;
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Which is the enzyme specific to glyoxalate cycle?

Options :

1 % Succinate dehydrogenase

Isocitrate lvase
2, o .

Aconitase
3. %

Isocitrate dehydrogenase
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Which of the following processes does not take place in the nucleus?
Options :

s DNA replication

RNA processing

Translation

Transcription

Question Number : 130 Question Id : 27028215855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which of the following is not an example of in sifu conservation?

Options :

Biosphere reserve
1. %



Sacred groove

WNational Park

Botanical garden
4.+
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A mutation in codon leads to the substitution of one amino acid with another different
from the usual amino acid. the type of this mutation 15—

Options :

1 % Nonsense mutation
5 % Frameshift mutation

Missense mutation

% Same sense mutation
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A cross 1s made between a pure breeding plant having red colored flowers with a pure
breeding plant having white colored flowers. such cross 1s called—

Options :

Monohybrid cross

Dihybrid cross
W

3 % Test cross

4 % Back cross
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Which of the following dyes is used in Gram staining?
Options:

Giemsa

i Methylene blue



Rhodamine

Crystal violet
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Shine-Dalgarno sequence 1s part of ..
Options :

Eukaryotic tfRNA

1. %

> Prokaryotic mRNA

3 % Eukaryotic mRNA

tRNA
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DNA replication 1s ..

Options :

“ Conservative and senu discontinuous

o Contmuous and Conservative

Semiconservative and semi discontinuous
3.v

4 % Semiconservative and continuous
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In Drosophila . sex 1s determined by
Options :

. Ratio of pairs of X-chromosomes to the pairs of autosomes

Ratio of the number of X- chromosomes to the set of autosomes

3 % X and Y chromosome



4 % Temperature
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In humans. Barr body 1s an ..
Options:

Active X chromosome 1in males
1. =

> % Active X chromosome in females

3 % Inactive X chromosome in normal males

Inactive X chromosome in normal females
4, &
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Mycoplasmas are different from other prokaryotes in

Options :



Presence of protem in cell wall

> Absence of cell wall itself

Presence of chitin in cell wall

Presence of murein in cell wall
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What part of the body is mostly scanned by ftMRI?

Options :

Brain

Kidney

Heart

o
- Liver
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Assertion(A): Ber -Bert 15 a viral infection
Reason(R): Vitamin deficiency causes diseases

Options:

1 % Both (A) and (R) are true and (R) is the correct explanation for (A)

. Both (A) and (R) are true and (R) 1s not the correct explanation for (A)

3 % (A)is true but (R) 1s false

4 (A) 1s false but (R) 1s true
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The number of protons or atomic number 1s reduced to 2 by which form of radioactive
decay?

Options :

1@ Alpha decay



Beta decay
2. % ’

3 % Gamma decay

None of the above
4, %
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Remote sensing techniques make use of the properties of-----emutted. reflected or
diffracted by the sensed object.

Options :

Sound waves

Electric waves

Electromagnetic waves

4 % Wind waves
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Biosphere reserve has following zone except one
Options :

“ Buffer zone

Core zone

Transition area

Spherical zone
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The final stable community in an ecological succession 1s
Options :

Climax

1. %

> w Ploneer



3 % Ecotone

Nudation
4. ®
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Which of the following 1s produced by the alpha cells of the pancreas?
Options:

1% Insulin

Calcitonin

Oxytocin

4 Glucagon
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Autotrophs consumption in the ecosystem occurs by
Options :

Dec OMpPoscrs
1. %

5 % Autotrophs

3 @ Heterotrophs

4. % Phototrophs
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The Major mechanism of HER-2/ neu oncogene activation in breast cancer 1s
Options :

1 % Pomt mutation

5 % Translocation

3. # Deletion

Gene amplification
4. I
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Vertical distribution of different species in an ecosystem occupying at different

levels known as

Options :

1 % WVitrification

-c.‘ I\.I'. i [ :
5 & S tratification

3 % WVentralization

Dorsalization
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Conversion of inorganic into organic material with the help of the radiant energy of
the sun by

Options :

Heterotrophs



Phenotrophs

Autotrophs

Spherotrophs
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The regulation of trp operon in E. coli in part by the availability of tryptophan is

known as
Options :

w Anti temunation

) % Nonsense Suppression

3 % Alternative splicing

Attennuation



